NSW ICAC EXHIBIT E18-0281-AS-09-002-PR-0002 D10558382

From: Ashleigh Frost <sc.vic@accuweigh.com.au>
Sent: Tuesday, 8 May 2018 4:46 PM

To: 'SINGH Jai'

Subject: Part List

Attachments: image.pdf

Hi Jai,

Please see attached.

Kind Regards,

Ashleigh Frost
Service Supervisor

Melbourne Office

20 Yiannis Court, Springvale North, Victoria 3171
T: 039548 5512 F: 03 9548 5513

M: 0407 017 472

E: sc.vic@accuweigh.com.au

accuweigh.com.au | a division of accucorp pty Itd

MEASUREDR
INTELLIGEMCE

WEIGH




-~

 NSW ICAC EXHIBIT

702-43rd Street East Saskatoon, SK CANADA S7K 3T9

- r-l ® INTERNATIONAL ROAD DYNAMICS INC.
/

SEmmmy Phone: (306) 653-6600 Fax: (306) 653-6827

Email: info@irdinc.com www.irdinc.com

Novation Engineering Pty Ltd
Unit 121167 Herring Road
Macquarie Park 2113
Sydney, NSW Australia

Attention: Steve Thammiah
Telephone: 614 491 44125
Mobile:

Fax:

Remit i
Internationat Road Dynam
702 43rd Street East

Saskatoon, Sk., S7K 3T9 Canada

nc.

" Tel: +1-306:653.6636

PT301433 - Senk-Shr M 8 x 40 DIN7991-10.9-AE2 - Flat Head Screw
PT302302 - Tellerfeder A18 x 8,2 x 1 DIN2093 A2 - Spring Washer
PT302110 - Skt-Mutter M 8 DIN934 A2 - Hexagon Nut M8
PT302148 - Sicherungsmutter M8 8 - Self fixing nut
PT302300 - Tellerfeder A18 x 8,2 x 0,5 DIN2093 - Spring Washer
PT521869 - Kugelpfanne Oberteil - 007 Upper ball Socket 0007
PT303814 - Kugel 10 mm RB Klasse 3 - Ball Bearing RB 10/l
PT521868 - Kugelpfanne unten - 000 Ball Socket, Lower 0052 SAW10A
PT521993 - Passscheibe 21.9x17x0,5 - 001 Shim Ring SAW 21,9 x17 x 0,5
PT302586 - Wellenscheibe D1=22 ; D2=16 - Wavy Washer
PT522301 - 000 Shim Ring SAW 21,9 x 17 x 1,0
PT522005 - Seegerring | 22 X DIN 472 Federst - Locking Ring
PT510873 - Weighpad SAW 10A Wired wio Handle Electr.
SIN's - 13 5385/ 5384 / 5374 / 5377 | 5380 /5386 / 5388 / 5390
PT523401 - Extension Coupling 0047 SAW - A
PT313924 - Makrolonscheibe 0015 3x56x122 - 004 Macrolon Cover 0016 PL.
PT313825 - Makrolonscheibe 0016 3x28.8x91 - 004 Macrolon Cover 0016 PL.
PT513322 - 001 Plombierschraube M4x12 - Sealing Screw
PT301700 - Senk-Shr M 3 x 6DIN965 A2 - Flat Head Screw
PT301941 - Lise-Shr M 3 x 14 DIN7985 A2 - Lens Head Screw
PT301741 - Senk-Shr M 4 x 12 DIN965 A2 - Flat Head Screw
PT304078 - Druckfeder 1,0x7,7x12,0x305 D1658 - Spring Accu Shelf Screw
PT302652 - O-Ring 17,0 x 2,0 70NBR/769
PT313931 - 005 Battery Shelf Screw SAW10
PT550036 - Sicherungsmutter M5 - Locking Nut M5
PT550037 - Zylinderschraube M5x30 - Screw M5 X 30
PT550022 - SAW10A Il NZ ver Wheel - Transportation Wheels Black
PT550069 - Counter Sunk Screw M5 X 10
PT550008 - Roll Holder
PT5650010 - Face Plate for Roll Holder Right
PT550009 - Face Plate for Roll Holder Left
"PT100115-'Caisiter Sunk Screw-M14 X 16
PT550021 - Metal Spring for Fixing Handle
PT510835 - 002 Piastic handle bar 0030 £SAW2/10A
PT301778 - Senk-Shr M 6 x 16 DINS65 A2 - Flat Head Screw
PT301941 - Lise-Shr M 3 x 14 DIN7985 A2 - Lens Head Screw
PT10038 - Senk-Shr M 3 x 6DINS65 A2 - Flat Head Screw

Total EX WORKS Sarnen, Switzeriand
Freight

Insurance

strali

Total CIP Airport Sydney, Au
o o

I declare all information\ contained in this invoice to be true and correct.

AccuWeigh

E18-0281-AS-09-002-PR-0002 D10558382

20 Yiannis Court
Springvale North, Vic, 3171

Australia

Attention: Steve Thammiah

Telephone: 61449144125

Mobite:
Fax:

DISA Elektro AG Switzerland
Kagiswilerstrasse 33
CH-6060 Sarnen 2

PH: 41-41-666750

Parts for scales, contains NiMh batteries - not restricted as per Special Provision A199

9031.90.99.99
9031.90.99.99
9031.90.99.99
8423.90.92.00
9031.90.99.99
8423.90.92.00
9031.90.99.99
8423.90.92.00
9031.90.99.99
9031.90.99.99
9031.90.99.99
9031.90.99.99
8423.89.00.00

8423.90.92.00
9031.90.99.99
9031.90.99.99
8423,89.00.00
8423.90.92.00
8423.90.92.00
8423.90.92.00
9031.90.99.99
9031.90.99.99
9031.90.99.99
8423,90.92.00
8423.90.92.00
8423.90.92.00
8423.90%92.00
8423.90.92.00
8423.90.92.00
8423.90.92.00
8423.90.92.00
9031.90.99.99
8423.90.92.00
8423.90.92.00
8423.90.92.00
8423.90.92.00

Lt




NSW ICAC EXHIBIT E18-0281-AS-09-002-PR-0002

From: SINGH Jai <Jai.SINGH@rms.nsw.gov.au>
Sent: Tuesday, 8 May 2018 5:55 PM

To: Ashleigh Frost

Subject: RE: Part List

Thanks Ashleigh.

Below is the list of parts ordered and the associated part number and package (some parts can be found in multiple
packages).

Part Number Name Qry Package
513322 sealing screw 20 3h
521869 Upper Ball socket 40 2a,2aa
303814 Ball 40 2a
521868 Lower Ball socket 40 2a
521993 Shim Ring 40 2a,2aa
302586 Wavy Washer 40 2a,2aa
522301 Shim Ring 40 23,2aa
319451 Locking Ring 40 2a,2aa
302300 Spring washer 40 2a,2aa
320711 Flathead screw 50 1b
302302 Spring washer 20 2a,2aa
302110 nut m8 50 1b
302148 nut m8 50 1b
304078 spring accu shelf screw | 25 3i
302652 oring 25 3i
313931 accu shelf screw 25 3i
301700 m3 screw 60 3h
301740 m4 screw 150 3h
510873 weigh pad 10A 8 2b
80001928 Wheels 35 N/A
8009155 Handles 40 N/A
8001336 CPU/LCD Mainboard 5 N/A

Regards,

Jai

From: Ashleigh Frost [mailto:sc.vic@accuweigh.com.au]
Sent: Tuesday, 8 May 2018 4:46 PM

To: SINGH Jai

Subject: Part List

Hi Jai,

Please see attached.



NSW ICAC EXHIBIT E18-0281-AS-09-002-PR-0002

Kind Regards,

Ashleigh Frost
Service Supervisor

Melbourne Office

20 Yiannis Court, Springvale North, Victoria 3171
T: 039548 5512 F: 03 9548 5513

M: 0407 017 472

E: sc.vic@accuweigh.com.au

accuweigh.com.au | a division of accucorp pty Itd

MEASURED
INTELLIGENCE

WEIGH

Kl

Before printing, please consider the environment

IMPORTANT NOTICE: This email and any attachment to it are intended only to be read or used by the named addressee. It is confidential and may contain
legally privileged information. No confidentiality or privilege is waived or lost by any mistaken transmission to you. Roads and Maritime Services is not
responsible for any unauthorised alterations to this email or attachment to it. Views expressed in this message are those of the individual sender, and are not
necessarily the views of Roads and Maritime Services. If you receive this email in error, please immediately delete it from your system and notify the sender.
You must not disclose, copy or use any part of this email if you are not the intended recipient.



	Exh 52 - 2018-05-08 164600 EMAIL from Accuweigh to Singh titled Part List E18-0281-AS-09-002-PR-0002 D10558382
	8 May part list
	8 May part list att

	Exh 52 - 2018-05-08 175500 EMAIL from Singh to Accuweigh Re Part List E18-0281-AS-09-002-PR-0002 D10558380



